1. Compute the following integrals (note that some of them are indefinite
integrals and some are definite integrals).
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(d) (4 pts) [z’e"dz.
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(e) (6 pts) [(1+ sin(3z))*dz. (Hint : You might need to use a
trig identity)
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(g) (6 pts) [tan*(z)dr. (Hint : You might need to use a frig
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2. Consider the region bounded by the graphs of y = 223, y = 0and z = 1.

(a) (9 pts) Compute the AREA of this region.
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(b) (6 pts) Sct up (hut DO NOT EVALUATE) the integral to compute
the volume of the solid obtained by revolving this region around the
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3. (10 pts) Consider the region bounded by the curves y = 27 — 4z + 1
and y = z — 3. Set up (but DO NOT EVALUATE) the integral(s) to
compute the area of this region.
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4. (10 pts) The temperature of a popsicle as a function of time ¢ (¢ = 0
being when it is removed from the freezer) is given by

30t
T(t) =
(t) t2+1

for 0 <t < 2. What is the average temperature over this time period?.
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5. (10 pts) Consider the region bounded by the graphs y = e”. y =1 -1,
rz=0and r = 1. Set up (but DO NOT EVALUATE) the integral to
compute the volume of the solid obtained by revolving this region around

the r-axis.
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6. (15 pts) Consider the region hbounded by the graphs of y = %y =2-1.
and y = 0. Set up (but DO NOT EVALUATE) the integral(s) to compute
the volume of the solid obtained by revolving this region about the x axis.
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